
Question 6 : Forrest 
 

Anthony has to work out where all the chocolates are in a box.

Here is a diagram of the box, it's a grid of squares.

Each number indicates the number of chocolates in a line or in a column. There can be just one chocolate 

in each square of the grid. 
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Colour in on the grid the squares where you find the chocolates.
 

In this column there 

are 2 chocolates. 

In this row there 

are 4 chocolates 

Anthony has to work out where all the chocolates are in a box. 

Here is a diagram of the box, it's a grid of squares. 

number indicates the number of chocolates in a line or in a column. There can be just one chocolate 

2 1 2 1 

    

    

    

    

    

    

Colour in on the grid the squares where you find the chocolates. 

number indicates the number of chocolates in a line or in a column. There can be just one chocolate 


